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(B) 3. 3ToohIsil (1) 2R qar
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(D) (A)-(D), (B)-(IV), (O)-(11D), (D)-(II)
(2)  (A)-(1V), (B)-(1I), (C)-(D), (D)~(1LL)
(3)  (A)-(II), (B)-(I), (O)-(I), (D)-(1V)
(4)  (A)-1), (B)-(ID), (©)-(1V), (D)-(I)
Options:

54025063277. 1
54025063278. 2
54025063279. 3

54025063280. 4

General Test

Group Number: 6

Group Id : 540250327
Group Maximum Duration : 60

Group Minimum Duration : 60

Show Attended Group?: No

Edit Attended Group?: No

Break time: 0

Group Marks : 250

Is this Group for Examiner?: No

Examiner permission : Cant View



Show Progress Bar?: No

General Test

Section Id : 540250397
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 50

Section Marks : 250
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 5402501114
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 221 Question Id : 54025015591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




The curved surface area of a right circular cone of height 12 cm and base diameter 10 cm is :
(1) 657 cm?

) 75mem’
(3) 130 m?
4

4) 100 7 cm?

Options :

54025062361. 1
54025062362. 2
54025062363. 3

54025062364. 4

Question Number : 221 Question Id : 54025015591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

12 9, S 9N 10 Fef, SR =9 % T I Vi 1 9 TS GG §
(1) 65 HH1.2
(2) 757 HHI.2
(3)
(4)

3) 130 7 T2
4) 100 7 912
Options :
54025062361. 1
54025062362. 2
54025062363. 3

54025062364. 4

Question Number : 222 Question Id : 54025015592 Question Type : MCQ Option Shuffling : No




Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Cost of 6 pens and 9 pencils is ¥ 126. What is the cost of 8 pens and 12 pencils ?
(1) %156

Options :

54025062365. 1
54025062366. 2
54025062367. 3

54025062368. 4

Question Number : 222 Question Id : 54025015592 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

e 6 T 3R 9 UfEet 1 W 2126 %, 8 T 3 12 Ueet =1 e T gt
(1) %156

) T159
3) %162
4 7168

(
(
(
Options:

54025062365. 1




54025062366. 2
54025062367. 3

54025062368. 4

Question Number : 223 Question Id : 54025015593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Find the 18™ and n™ term of the A.P. given by :

8:13.18, ...
(1) 80, 3+5n
(2) 93, 3+5n
(3) 65, 3—2n
(4) 40, 5+3n
Options :

54025062369. 1
54025062370. 2
54025062371. 3

54025062372. 4

Question Number : 223 Question Id : 54025015593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




&t 17 gaiat St &1 187 ik n Ue T HfT

8,13, 18, ...
(1) 80, 3+5n
(2) 93, 3+5n
(3) 65, 3-2n

(4) 40, 5+3n
Options :
54025062369. 1
54025062370. 2
54025062371.3

54025062372. 4

Question Number : 224 Question Id : 54025015594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

1
If a person travel 105 Km in 3h, then the distance covered by him in 5 h will be :

) 17km
) 2km
3) 20km
) 30km

Options :

54025062373. 1
54025062374. 2
54025062375. 3

54025062376. 4




Question Number : 224 Question Id : 54025015594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Hﬁﬁémﬂmaﬁm% Tl 01 7 T &, T8k g0 5 W0 W foe g 9 il w2
17 el

)
) 0 faA.
)
)

(

(2
(3) 20 T,
(4) 30 fell

Options :

3
4

54025062373. 1
54025062374. 2
54025062375. 3

54025062376. 4

Question Number : 225 Question Id : 54025015595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Speed of the boat along the current and against the current are 10 km/h and 8 km/h respectively.
What is the speed of the current ?

(1) 4
Q) 3
B 2
4 1
Options:

54025062377. 1
54025062378. 2
54025062379. 3

54025062380. 4

Question Number : 225 Question Id : 54025015595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

e, ol e it T S0 6 S T 0 o T s 10 ol B, i 8 el L €, @ e il
fet £
1) 4
2
6 2
4 1

Options :

2

54025062377. 1
54025062378. 2
54025062379. 3

54025062380. 4




Question Number : 226 Question Id : 54025015596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Find the co-ordinate of the mid point of a line which joins P(2, =1) and Q(=3, 4) :

i1
5 33
o (33

0 (33

Options :

54025062381. 1
54025062382. 2
54025062383. 3

54025062384. 4

Question Number : 226 Question Id : 54025015596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




P2, —1) R Q(-3, 4) feigsii & a1 % wen fog 1 Fcwiss I i ;
13

o 73

5 (31

o (73

0 2

Options:

54025062381. 1
54025062382. 2
54025062383. 3

54025062384. 4

Question Number : 227 Question Id : 54025015597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

How many 3-Jetter words can be formed from the letters of the word ‘OBJECTS' if repetition s not
allowed ?

1) 3%
Q) 120
) 210
W 840

i
-
A
J

Options :

54025062385. 1




54025062386. 2
54025062387. 3

54025062388. 4

Question Number : 227 Question Id : 54025015597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

7fe Tafa At i 7 2, @ ‘OBJECTS 1 & ot & 3 - 9eR % oy Y ) 1 W €/
1) 3

Q) 120
3 210
4 840

-2

Options :

54025062385. 1
54025062386. 2
54025062387.3

54025062388. 4

Question Number : 228 Question Id : 54025015598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




How many chords can be drawn through 5 points on a circle ?

(1) 5
(2) 10
(3) 20
(4) 60
Options :

54025062389. 1
54025062390. 2
54025062391. 3
54025062392. 4

Question Number : 228 Question Id : 54025015598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
ferdl g9 W 5 feigadl g/ feham =g &of ©iw <1 ¥ahd € 2
() 5
(2) 10
(3) 20
(4) 60
Options :

54025062389. 1
54025062390. 2
54025062391. 3

54025062392. 4

Question Number : 229 Question Id : 54025015599 Question Type : MCQ Option Shuffling : No




Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Two pipes A and B can fill a tank in 10h and 15 h Respectively. Find the time taken to fill the tank
when both the pipes are turned on simultaneously :

(1) 5h
2) 6h
() 8h
(4) 12h
Options :
54025062393. 1
54025062394. 2
54025062395. 3

54025062396. 4

Question Number : 229 Question Id : 54025015599 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




e A & B R el 3 o o, 10 ¥ 9 1590 F R W € 1 5 ) VR ) O e e few
T 3 0 e
(1) 5%
Q) 6%
(3) 8%
(4 1%
Options:
54025062393. 1
54025062394, 2
54025062395. 3

54025062396. 4

Question Number : 230 Question Id : 54025015600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

At what rate of interest ¥ 1,200 becomes ¥ 1,323 in 2 years where interest gets compounded
annually :

1,
) 2=%
0 4
1
) 3-%
3
() 5%
1
7="%
4
Options :

54025062397. 1




54025062398. 2
54025062399. 3

54025062400. 4

Question Number : 230 Question Id : 54025015600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

forelt o9 LW 21,000 S & H 71,303 7 S €, Stk < e &9 A At forn o 87

Options :

54025062397. 1
54025062398. 2
54025062399. 3

54025062400. 4

Question Number : 231 Question Id : 54025015601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :




Key Value

Comprehension MCQ

Arun invests an amount of ¥ 4,000 at the rate of 2% simple interest per annum. For how many
years did he invest the amount o double his sum ?

(1) 20 years
(2) 30 years
(3) 30 years
(4) 45 years

a3

Options :

54025062401. 1
54025062402. 2
54025062403. 3

54025062404. 4

Question Number : 231 Question Id : 54025015601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

S50 2% o TR 1 ) 28 % 4,000 4 o ol A | 3 30 o 4 S e o
o 5 g ) o7

(1) 0

EE
3) 50
{4 4Ha

Options :
54025062401. 1
54025062402. 2




54025062403. 3

54025062404. 4

Question Number : 232 Question Id : 54025015602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

What should replace the question mark ?

854 X 854 x 854 — 276 X 276 X 276
854 x 854 + 854 X 276 + 276 X 276
1) 1130

) 578
) 565
)

?

)

8]

i

s

(
(
(
(4) 1156
Options :

54025062405. 1
54025062406. 2
54025062407. 3

54025062408. 4

Question Number : 232 Question Id : 54025015602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




854 x 854 x 854 — 276 X 276 X 276 _%
854 x 854 + 854 X 276 + 276 X 276

frefafed 4 9 sR-4 ge yearEe =g (2) i widenfia s ?

(1) 1130
(2) 578
(3) 565
(4) 1156
Options :

54025062405. 1
54025062406. 2
54025062407. 3

54025062408. 4

Question Number : 233 Question Id : 54025015603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

What 1s the maximum area of a rectangle which can be mscribed in a circle of radius 2 cm ?
247’

Options :

54025062409. 1
54025062410. 2
54025062411.3

54025062412. 4




Question Number : 233 Question Id : 54025015603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
2 . foeon & ot 9 W Sl o o srfereRan St feRe 22
(1) 2/2 TP
(2) 8 HHE
(6) 42 §HP
(4) 4P
Options:

54025062409. 1
54025062410. 2
54025062411. 3

54025062412. 4

Question Number : 234 Question Id : 54025015604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




The diameter of the driving wheel of a bus is 140 m. How many revolutions per minute must the
wheel make in order to keep a speed of 66 km/h ?

(1) 1100
2) 500
) 250
(4) 300
Options:
54025062413. 1
54025062414. 2
54025062415. 3

54025062416. 4

Question Number : 234 Question Id : 54025015604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

foret g % o 7% & Wew 1 2 140 R £ 66 P 3t g o R & fow o ) oo e
T 5 o5

1) 1100

) 500

) 20

300

Options :

54025062413. 1
54025062414. 2
54025062415. 3

54025062416. 4




Question Number : 235 Question Id : 54025015605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

If the selling price is doubled, the profit triples. Find the profit % :
(1) 50%
1
105—=%
@) 105

(3) 662%

(4) 100%
Options :
54025062417. 1
54025062418. 2
54025062419. 3

54025062420. 4

Question Number : 235 Question Id : 54025015605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




e fosra Tea S R fean S ©, @ fogn @1 < &, 1 e % 3 ife 2
(1) 50%

1
105=%
2 105

2
66—%
3) 63

(4) 100%
Options:
54025062417. 1
54025062418. 2
54025062419. 3
54025062420. 4

Question Number : 236 Question Id : 54025015606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Arjun is twice as old as Shreya. Five years ago, his age was three times Shreya’s age. Find the sum
of their present ages :

(1) 20 years
(2) 30 years
(3) 40 years

(4) 30 years
Options :
54025062421. 1
54025062422. 2
54025062423. 3

54025062424. 4




Question Number : 236 Question Id : 54025015606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

SR A 0 |0 o R A o 8 T o e o
0 i L)

(1) 0

Q) 30

(3) 4w
(4 50

Options :

54025062421. 1
54025062422. 2
54025062423. 3

54025062424. 4

Question Number : 237 Question Id : 54025015607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




A bag contains b white and 4 black ball. Two balls are drawn at random. Then the probability of
getting balls of the same colour s

..
ORST
g 2
YR
6

7
8 %
Options:

54025062425. 1
54025062426. 2
54025062427. 3
54025062428. 4

Question Number : 237 Question Id : 54025015607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




T T H 6 U 14 el 1 & |71 e 4 ) T el e & 0 2 47 61 T 70 3 1 el
2

i 2
gy 2
i 2
O 3
i L
ST
Options :

54025062425. 1
54025062426. 2
54025062427. 3
54025062428. 4

Question Number : 238 Question Id : 54025015608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




A die is thrown. Find the probability of getting :
(A) A number greater then 6 and
(B) A number less than 3.

(1) 0,

G| =

P | =

Options :

54025062429. 1
54025062430. 2
54025062431.3

54025062432. 4

Question Number : 238 Question Id : 54025015608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




T U1 T S € | Frefafaa % e g9 S Gererd 9 i ;
(A) 6% sifues gen iR
(B) 3H % He

1

0, =

1 03

1

1, —

@ L3
1

@) 50

i | |

) 73
Options :

54025062429. 1
54025062430. 2
54025062431. 3

54025062432. 4

Question Number : 239 Question Id : 54025015609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

A man spends 60% of his income and saves the remaining. His income increases by 28% and his
expenditure also increases by 30%. Find the percentage increase in his savings.

(1) 4%

(2) 4.44%

(3) 30%

(4) No change




Options :

54025062433. 1
54025062434. 2
54025062435. 3
54025062436. 4

Question Number : 239 Question Id : 54025015609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T T A 7 1 60% 57 1 ¢ 01 Y T e | ST 7 W 28% ) g 31 ol & 7 3
oy B 4 30% 9 3 7 T €1 S a0 1 5l 1 Wiow T #?

1) 4%

) L4%
) 30%

Options :

54025062433. 1
54025062434. 2
54025062435. 3

54025062436. 4

Question Number : 240 Question Id : 54025015610 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :




Key Value

Comprehension MCQ

In the given figure, AB=AD. ZACB=%°+/BAC and ZBAD=150°. Find ZACB.

A
B C D
(1) 100°
2) 110°
(3) 120°
(4) 130°
Options :

54025062437. 1
54025062438. 2
54025062439. 3
54025062440. 4

Question Number : 240 Question Id : 54025015610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




& T o § AB=AD %1 LACB=95"+ ZBAC 71 ZBAD=150" &| ZACB W #fu

A
B C D
(1) 100°
() 110
(3) 120°
(4) 130°
Options:

54025062437. 1
54025062438. 2
54025062439. 3
54025062440. 4

Question Number : 241 Question Id : 54025015611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

At what angle the hands of a clock are inclined at 16 minutes past 4 ?
(1) 56°

(2) 46°
(@) 327
(4) 60°



Options :

54025062441. 1
54025062442, 2
54025062443. 3

54025062444. 4

Question Number : 241 Question Id : 54025015611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Sl Sl s 4 i 16 T2 T g o1 I Af=a 2t 2
(1) 56°
(2) 46°
(3) 32°
(4) 60°
Options :

54025062441. 1
54025062442. 2
54025062443. 3

54025062444. 4

Question Number : 242 Question Id : 54025015612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

There is a definite relationship between figures A and B. Establish a similar relationship between
figures C and D by selecting a suitable figure from options :

O|l|A

A B C D

-

(1)

(2

§

(4

Options :

54025062445. 1
54025062446. 2
54025062447. 3
54025062448. 4

Question Number : 242 Question Id : 54025015612 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

e A B % 9 U ofvera Wy & | ot o § S0 STHMd & = g0 1 C SRD %
W@H@Iﬁﬂﬁm:

0|l A

A B C D

L}

(1)

(2

4

(4

| || |[T=>] |<=]

Options :



54025062445. 1
54025062446. 2
54025062447. 3

54025062448. 4

Question Number : 243 Question Id : 54025015613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Five persons are standing in a queue, one of two persons at the extreme end is a doctor and the
other is engineer. An advocate s standing to the right of the student, An Author is to the left of
the engineer. The student is standing between the doctor and advocate.

If the advocate and engineer exchange their positions and also the author and the student, then
who will be standing to the left of the author ?

(1) Doctor

(2) Engineer
(9) Advocate
(4) Student

Options:

54025062449. 1
54025062450. 2
54025062451. 3
54025062452. 4

Question Number : 243 Question Id : 54025015613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1




Question Key Details :

Key Value

Comprehension MCQ
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Options :

54025062449. 1
54025062450. 2
54025062451. 3

54025062452. 4

Question Number : 244 Question Id : 54025015614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

A'is the husband of B. C is the only grandson of D who is wife of E and mother-in-law of B. How
iS A related to E ?

(1) Cousin
(2) Nephew
(3) Son-in-law
(4) Son




Options :

54025062453. 1
54025062454. 2
54025062455. 3
54025062456. 4

Question Number : 244 Question Id : 54025015614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

54025062453. 1
54025062454. 2
54025062455. 3

54025062456. 4

Question Number : 245 Question Id : 54025015615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ

Shyam walks 4 km north-east and then 3 km south-east. Find the total distance as well as the
shortest distance between starting and end point,

(1) 14,7

Options :

54025062457. 1
54025062458. 2
54025062459. 3
54025062460. 4

Question Number : 245 Question Id : 54025015615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :
54025062457. 1
54025062458. 2

54025062459. 3




54025062460. 4

Question Number : 246 Question Id : 54025015616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

When a calendar of year 1997 can be used again ?

(1) 2001
(2) 2005
(3) 2003
(4) 2007

Options :

54025062461. 1
54025062462. 2
54025062463. 3

54025062464. 4

Question Number : 246 Question Id : 54025015616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) 2001
(2) 2005
(3) 2003
(4) 2007
Options :

54025062461. 1
54025062462. 2
54025062463. 3

54025062464. 4

Question Number : 247 Question Id : 54025015617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




A piece of paper is folded and cut as shown below. From the given figures, indicate how it will
appear when it is opened ?

0
41 \oo

Options:

54025062465. 1
54025062466. 2
54025062467. 3

54025062468. 4

Question Number : 247 Question Id : 54025015617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ
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54025062465. 1
54025062466. 2
54025062467. 3

54025062468. 4

Question Number : 248 Question Id : 54025015618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Seven friends A, B, C, D, E, Fand G are sitting n a circle facing the centre, A 15 between Eand D.
F is between B and G. B s second to the right of E.

Gis sitting :

(1) between A and F

(2) tothe immediate right of F
(3) second to the left of A

(4)  fourth to the left of E

Options :

54025062469. 1
54025062470. 2
54025062471. 3

54025062472. 4

Question Number : 248 Question Id : 54025015618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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54025062469. 1
54025062470. 2
54025062471. 3

54025062472. 4

Question Number : 249 Question Id : 54025015619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Six lectures are scheduled in a week starting from Monday and ending on Sunday with one off
day in between. Computer science is not or Tuesday on Saturday. Psychology is immediately
after organisational behaviour. Statistics s not on Friday and there is one day gap between statistics
and Research methods. One day prior to the schedule of Economics there is no lecture (as that day
is the off day and Monday is not the off day)

On which day is computer science schectuled ?
(1) Friday

(2) Thursday
(3) Sunday
(4)  Wednesday

Options :




54025062473. 1
54025062474. 2
54025062475. 3

54025062476. 4

Question Number : 249 Question Id : 54025015619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

54025062473. 1
54025062474. 2
54025062475. 3
54025062476. 4

Question Number : 250 Question Id : 54025015620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0




Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Answer the following question by using Venn diagram on the basis of the given statements and
conclusions. You have to assume all the statements there, decide which of the given conclusions
logically follows from the information given in the statements

Statements: I Some shurts are pants,
Il All shoes are shirts,
I All pants are gloves.
Conclusions : 1. Some shoes are gloves,
Il Some shirts are gloves.
I No pants are shoes,
IV, All gloves are shirts.
(1) Only I follows
(2) Only IV follows
(3) Only [and I follows
(4) Only [and IV follows
Options:
54025062477. 1
54025062478. 2
54025062479. 3

54025062480. 4

Question Number : 250 Question Id : 54025015620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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54025062477. 1
54025062478. 2

54025062479. 3

54025062480. 4

Question Number : 251 Question Id : 54025015621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Find the next term in the given series.
BMO, EOQ, HQS,

(1) UKS
(2) PQS
(3) KSU
(4) RSK
Options:

54025062481. 1
54025062482. 2
54025062483. 3

54025062484. 4

Question Number : 251 Question Id : 54025015621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
el § el 98 FMd IS
BMO, EOQ, HQS,
(1) UKS
(2) PQS
(3) KSU
(4) RSK
Options :

54025062481. 1
54025062482. 2
54025062483. 3

54025062484. 4




Question Number : 252 Question Id : 54025015622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Problem figure :

S N — 7N
(A) (B) © (D)

Choose the correct option to complete the series :

NS
D

T

g — — | —| g

(4)

Options :



54025062485. 1
54025062486. 2
54025062487. 3

54025062488. 4

Question Number : 252 Question Id : 54025015622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

54025062485. 1
54025062486. 2
54025062487. 3
54025062488. 4

Question Number : 253 Question Id : 54025015623 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The wrong term in the given number series is :
5, 6,10, 19, 35, 60, 92, 145

(1) 145
(2) 35
(3) 92
(4) 60

Options :

54025062489. 1
54025062490. 2
54025062491. 3

54025062492. 4

Question Number : 253 Question Id : 54025015623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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5, 6,10, 19, 35, 60, 92, 145

(1) 145
(2) 35
(3) 92
(4) 60

Options:




54025062489. 1
54025062490. 2
54025062491. 3

54025062492. 4

Question Number : 254 Question Id : 54025015624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Look at the statements and mark the correct answer based on the conclusions which follow :
Statement: A, Iplay video games when [am bored.
B.  Tamnever bored in my friend's company.

Conclusion: 1 It Tambored, I play video games,
[l IfTambored, I seek my friend’s company.
1) Only conclusion [ follows.

)
) Only conclusion I follows.

) Both conclusion I and Il follows,

) Neither conclusion I nor IT follows,
Options :

54025062493. 1

54025062494, 2

54025062495. 3

54025062496. 4

Question Number : 254 Question Id : 54025015624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1




Question Key Details :

Key Value

Comprehension MCQ
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Options :

54025062493. 1
54025062494. 2
54025062495. 3

54025062496. 4

Question Number : 255 Question Id : 54025015625 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Which letter will be sixth to the left of the nineteenth letter from the right end, in the following
alphabets series.

AB,CDEFGHILLKLMNOPQRSTUV,WXY,Z
1) M

Options:

54025062497. 1
54025062498. 2
54025062499. 3

54025062500. 4

Question Number : 255 Question Id : 54025015625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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AB,CD,EFGHL]KLMNOPQRSTUV,W,XY,Z
1) M

(2) Y
(3) N
(4) B

Options :

54025062497. 1
54025062498. 2
54025062499. 3

54025062500. 4




Question Number : 256 Question Id : 54025015626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Find out which of the figures can be formed using the pieces given in problem figure.

A D
/N

Problem figure.

1
g k
E

4)

Options:




54025062501. 1
54025062502. 2
54025062503. 3

54025062504. 4

Question Number : 256 Question Id : 54025015626 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

54025062501. 1
54025062502. 2
54025062503. 3

54025062504. 4

Question Number : 257 Question Id : 54025015627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Statement :

An advertisement by a public sector bank : we offer higher fixed deposit interest in comarision to
other public sector banks.

Assumption :
. The different public sector banks offer different deposit rates
Il Thereis compefition in the market to attract customers,
From the above two assumptions, decide which of the assumption is implicit in the statement ?
(1) Only assumption [ is implicit
(2) Only assumption Il is implicit
() Both Iand Il are implicit
(4)  Neither Inor 118 implicit

Options:

54025062505. 1
54025062506. 2
54025062507. 3
54025062508. 4

Question Number : 257 Question Id : 54025015627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

54025062505. 1

54025062506. 2

54025062507. 3
54025062508. 4

Question Number : 258 Question Id : 54025015628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Choose the figure in which the problem figure is embedded :

Problem figure

(1)

Options:

540250625009. 1
54025062510. 2
54025062511.3
54025062512. 4

Question Number : 258 Question Id : 54025015628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

39 sehfd 1 g e g spfa wfifed €2
T 3R

Options:
54025062509. 1
54025062510. 2

54025062511. 3



54025062512. 4

Question Number : 259 Question Id : 54025015629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

If PANT is TNAP an RATS are STAR; then ELEPHANTS are
(1) PHANTSELE

(2) ANTSPHELE
(3) STNAHPELE
(4) LEENAPSTH
Options :

54025062513. 1
54025062514. 2
54025062515. 3

54025062516. 4

Question Number : 259 Question Id : 54025015629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) PHANTSELE

ANTSPHELE

J
3 STNAHPELE
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4) LEENAPSTH
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Options:

54025062513. 1
54025062514. 2
54025062515. 3

54025062516. 4

Question Number : 260 Question Id : 54025015630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

You are a team manager, vou find that your employee’s performance is inappropriate that
induces/creates a stress for you. You should :

(1) start an incentive mechanism for better performance.
(2) implement special human resource training for the employees.

)
(3) create an organizational culture in which the employee feels to be concerned.
(4) Terminate the employee.

Options :

54025062517. 1
54025062518. 2
54025062519. 3

54025062520. 4




Question Number : 260 Question Id : 54025015630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

0 20 T4 ¢, 9 W & T 0 FHaR) 91 FOUGR ST ¢ S0 66 ot 76 3 0 €,
S ) H e

(1) e e o ferw S i ) e e

(2) e o ferw fesm e e e 1 s 9 A

(3) el Sl i T w Fo el A Ve e Ted

(4] e ) e & TR

Options :

54025062517. 1
54025062518. 2
54025062519. 3

54025062520. 4

Question Number : 261 Question Id : 54025015631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Where is Ajanta cave ?
(1) Kerala

(2) Ajmer

(3) Maharashtra

(4) Gujrat
Options:

54025062521. 1
54025062522. 2
54025062523. 3

54025062524. 4

Question Number : 261 Question Id : 54025015631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
TSIl % HEi 87

(1)

(2) 3SHY

(3) WY

(4) TSI

Options :

54025062521. 1
54025062522. 2
54025062523. 3

54025062524. 4

Question Number : 262 Question Id : 54025015632 Question Type : MCQ Option Shuffling : No




Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Who ordered the annexation of Awadh from Wajid Ali Shah ?
(1) Lord Dalhousie

(2
(3
(4

) Lord Canning

) Lord Warren Hastings
) Lord Lansdown
Options :

54025062525. 1

54025062526. 2

54025062527. 3

54025062528. 4

Question Number : 262 Question Id : 54025015632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :




54025062525. 1
54025062526. 2
54025062527. 3

54025062528. 4

Question Number : 263 Question Id : 54025015633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL.

List - 1 List - II

(Dynasty) (Founder)
(A) The Kingdom of Gaud (I)  Bhattarka
(B) The Chalukyas of Vatapi (II) Jayasimha
(C) The Kingdom of Thaneshwar (IlI) Shashanka
(D) The Maitrakas of Vallabhi (IV) Pushyabhuti

Choose the correct answer from the options given below :
(1) (A)-1D), B)-), (©)-(1), (D)-IV)

(2) (A, B)-(I), (©O-1V), (D)-[0)
(3)  (A)-(1), (B)-(LLL), (C)-(1), (D)-(1V)
(4)  (A)-(1), B)-(IV), (O)-(1), (D)-{LL)
Options :

54025062529. 1

54025062530. 2

54025062531. 3

54025062532. 4



Question Number : 263 Question Id : 54025015633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Gedi- 19 Geii- 11 &1 e wifs;
Eiﬁ-l - II

(TrSTEm) (FEeTaeH)
(A) IS GER () T
(B) AUl = =Teqe (II) SafEe
(C) UHYeR HHRY I RINIED
(D) dcasl & T3k (IV) g=yfd

= feu u fasredi A 9 a3 1 99 Hif;

(1) (A)-(I), (B)-(II), (©)-(1), (D)-(IV)
(2)  (A)-(D), (B)-(TD), (O)-(IV), (D)-I)
(3)  (A)-(D), (B)-(IL), (O)-(II), (D)-(IV)
(4)  (A)-(1), (B)-(IV), (O)-(11), (D)-(I1I)
Options :

54025062529. 1
54025062530. 2
54025062531. 3

54025062532. 4

Question Number : 264 Question Id : 54025015634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

When did Dual Government of Bengal start ?

(1) 1765
(2) 1825
(3) 1855
(4) 1775

Options :

54025062533. 1
54025062534. 2
54025062535. 3

54025062536. 4

Question Number : 264 Question Id : 54025015634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

ST =l 59 UTEA hel HEY g7

(1) 1765

(2) 1825
(3) 1855
(4) 1775
Options :

54025062533. 1
54025062534. 2

54025062535. 3



54025062536. 4

Question Number : 265 Question Id : 54025015635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following is a renewable natural resource ?
(1) Timber

(2) Thorium

(3) Natural Gas

(4) Coal

Options :

54025062537. 1
54025062538. 2
54025062539. 3

54025062540. 4

Question Number : 265 Question Id : 54025015635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Tl s ware Fretfead 3 & HH-a 2

(1) FUReT TRel
(2) oifEm

(3) Wi 9
(4) Il
Options :

54025062537. 1
54025062538. 2
54025062539. 3

54025062540. 4

Question Number : 266 Question Id : 54025015636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of these forms of carbon are used to determine carbon dating ?
(1) Carbon - 12

(2) Carbon - 14

(3) Coke Charcoal

(4) Graphite
Options :

54025062541. 1
54025062542. 2
54025062543. 3

54025062544. 4

Question Number : 266 Question Id : 54025015636 Question Type : MCQ Option Shuffling : No




Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

S ST ) e 0 3 o e e 8 g 0 0 i o o

(1) F6H-12
(2) HH- 1
(3) F T
) e
Options :

54025062541. 1
54025062542. 2
54025062543. 3

54025062544. 4

Question Number : 267 Question Id : 54025015637 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The collection of Male Reproductive Part of a flower is called :
(1) Androecium

(2) Corolla
(3) Calyx
(4) Gymoceium

Options :




54025062545. 1
54025062546. 2
54025062547. 3

54025062548. 4

Question Number : 267 Question Id : 54025015637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

o] & X S YR 1 Hehol Hgelldl ¢

(1) 9=

(2) TS

(3) RIS g

(4) SEITEEH
Options :

54025062545. 1
54025062546. 2
54025062547. 3

54025062548. 4

Question Number : 268 Question Id : 54025015638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




In mRNA, vaccine, what is the meaning of ‘m” :

(1) Messenger

(2) Moderna

(3) Membrane

(4) Modeling
Options :

54025062549. 1
54025062550. 2
54025062551. 3

54025062552. 4

Question Number : 268 Question Id : 54025015638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

TH AR TF T (mRNA) 2% H “m’ R ST -1 §

(1) HE=K
(2) HreA
(3) HwSIA
(4) wlefem
Options :

54025062549. 1
54025062550. 2
54025062551. 3

54025062552. 4

Question Number : 269 Question Id : 54025015639 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Where was International Tourism Fair FITUR 2023, held ?
(1) Tokyo
(2) Delhi
(3) Beijing
(4) Madrid
Options :
54025062553. 1
54025062554, 2
54025062555. 3

54025062556. 4

Question Number : 269 Question Id : 54025015639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

SAeA ged Hell FITUR 2023 %@l A gam o17?
(1) 2R

(2) feeett

(3) ifs

(4) Hfge

Options :




54025062553. 1
54025062554. 2
54025062555. 3

54025062556. 4

Question Number : 270 Question Id : 54025015640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

According to Times Higher Education report, 2022, which of the following university has topped
the ranking list for the 7™ consecutive times ?

(1) Massachusetts Institute of Technology
(2) Havard University

(3) Cambridge University

(4) Oxford University

Options :

54025062557. 1

54025062558. 2

54025062559. 3

54025062560. 4

Question Number : 270 Question Id : 54025015640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




e T e R, 2002 % 4w e & o waforarera H i 7t am 4 g o
vl 2o et o 27

(1) WergHes T S

(2) 7w foyafeEe

(3) e fovafom

(4] SRS vl

Options:

54025062557. 1

54025062558. 2
54025062559. 3

54025062560. 4

Question Number : 271 Question Id : 54025015641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

‘Bailey suspension Bridge” has been inaugurated in which state/UT ?
1) Assam

(
(2) Arunachal Pradesh
(3) Jammu and Kashmir
(4) Karanataka
Options :

54025062561. 1
54025062562. 2
54025062563. 3

54025062564. 4




Question Number : 271 Question Id : 54025015641 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

ol 3 T (sl Sy fost) 1 3qene e T it & W o T g2

Options :

54025062561. 1
54025062562. 2
54025062563. 3

54025062564. 4

Question Number : 272 Question Id : 54025015642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

[ndian Government launched NIPUN project on June 20, 2022. What does NIPUN stands for ?
(1) National infrastructure for promoting Upskilling of Nirman workers

(2) National Initiative for promotion of Upskilling of Nirman workers

(3) Nation Institute for promoting Upskilling of Nirman workers

(4) National integration for promoting understanding of National workers




Options :

54025062565. 1
54025062566. 2
54025062567. 3
54025062568. 4

Question Number : 272 Question Id : 54025015642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

IR 5O 3 20 9202 %1 Fq0 (NIPUN) Wit o e o | foqmn (NIPUN) 1 70 69 ¢
(1) e TR i IATET ufenfetn i Frefor o

() A Frfen BRI e i R e

(3) T SR R SIRITEN aqvfifern A1 i ook

(4) TR SO R SHeN eferefin o v

Options:

54025062565. 1
54025062566. 2
54025062567. 3

54025062568. 4

Question Number : 273 Question Id : 54025015643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :




Key Value

Comprehension MCQ

Which country won the FIFA world cup 2022 ?
(1) France

(2) Argentina

(3) Croatia

(4) Moracco

Options :

54025062569. 1

54025062570. 2

54025062571. 3

54025062572. 4

Question Number : 273 Question Id : 54025015643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

it favasy 2022 fHg <91 A Sidr?
(1) Wi

(2)  SSi=

(3) shIuferEn

(4) HReRRI
Options :

54025062569. 1
54025062570. 2
54025062571. 3

54025062572. 4



Question Number : 274 Question Id : 54025015644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which is the largest ocean of the world ?
(1) Indian ocean
(2) Arctic ocean
(3) Atlantic ocean
(4) Pacific ocean
Options:
54025062573. 1
54025062574. 2
54025062575. 3

54025062576. 4

Question Number : 274 Question Id : 54025015644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Tova o1 Gad a1 HETENR &hid & ?
(1) fo= HeEr

(2) AThfesH HEHIR

(3) STl HEEIR

(4)  YRATT HETHI
Options :

54025062573. 1
54025062574. 2
54025062575. 3
54025062576. 4

Question Number : 275 Question Id : 54025015645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which planet is the closest to the sun ?

(1) Venus

(2) Mercury

(3) Jupiter

(4) Neptune
Options :

54025062577. 1
54025062578. 2
54025062579. 3

54025062580. 4

Question Number : 275 Question Id : 54025015645 Question Type : MCQ Option Shuffling : No




Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
gd & ged e ug A W 7
(1) ¥
(2) 99
(3) e
(4) deU
Options :

54025062577. 1
54025062578. 2
54025062579. 3

54025062580. 4

Question Number : 276 Question Id : 54025015646 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The Indus River0 flows in India only through :
(1) Allahabad

(2) Madya Pradesh

(3) Jammu and Kashmir

(4) Rajasthan

Options :




54025062581. 1
54025062582. 2
54025062583. 3

54025062584. 4

Question Number : 276 Question Id : 54025015646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Yd H 15y <1 shaa Fefafad § 4 yerfed @il €
(1) =dARMER
(2) T YW
(3) S 3TN HYHR
(4) TSN
Options :

54025062581. 1
54025062582. 2
54025062583. 3

54025062584. 4

Question Number : 277 Question Id : 54025015647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Which of the following is a ‘State” ?
(1) Mizoram

(2) Chandigarh

(3) Laddakh

(4) Ponducherry
Options :

54025062585. 1
54025062586. 2
54025062587. 3

54025062588. 4

Question Number : 277 Question Id : 54025015647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

fre=fefea 4 9 ' R W § 2
(1) foasm

(2) weErTE

(3) e

(4) TgT

Options :

54025062585. 1
54025062586. 2
54025062587. 3

54025062588. 4

Question Number : 278 Question Id : 54025015648 Question Type : MCQ Option Shuffling : No




Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Finance Minister presented the Union Budget for 2021 - 2022 on :
(1) 10 February 2021

(2) 1 February 2021
(3) 10 March 2021
(4) 1 March 2021
Options :

54025062589. 1
54025062590. 2
54025062591. 3

54025062592. 4

Question Number : 278 Question Id : 54025015648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

et w31 9 =6 2021 - 2022 1 FEF TS Fel T THAT?
(1) 10 ®&Ed 2021

(2) 1 ®Ed 2021

(3) 10 ®|r = 2021

(4) 1 ¥ 2021

Options :




54025062589. 1
54025062590. 2
54025062591. 3

54025062592. 4

Question Number : 279 Question Id : 54025015649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

What is under the PM Poshan Scheme as a part of which Tithi Bhojan will be encouraged ?
(1) It's a society participation program under which people provide special food to specially
abled people on special occasions.

(2) 1It's a community participation program under which people provide special food to senior
citizens on special occasions,

(3) It'sacommunity participation program under which people provide special food to children
on special occasions.

(4) It's an individual program under which a person provides normal food to children on daily
basis.

Options :

54025062593. 1
54025062594. 2
54025062595. 3
54025062596. 4

Question Number : 279 Question Id : 54025015649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :




Key Value

Comprehension MCQ

1 9 W 2 5 AT e A 3 T fofi o7 o om o 9 e o O

(1) % o AT ST e foeeh et Foraw ] o oo 9 el el
51 o 5 o o 11

(2) T O e T A ¢ foe st fouty i w aft i A v 5w fam
19 TG fo 9 €1

(3) % T TGO e i & e S i ok vl e ok ) o 0 e
;

(4) 7% T At e ¢ o T S e T o ) S S e 0 2

Options :

54025062593. 1

54025062594. 2

54025062595. 3

54025062596. 4

Question Number : 280 Question Id : 54025015650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Tea cultivation requires :
(1) warm and moist frost - free climate.
2) acool growing season and bright sunshine at ripening.

(2)
(3) high temperature above 25°C and high humidity.
(4) hot and humid climate.

Options :

54025062597. 1




54025062598. 2
54025062599. 3

54025062600. 4

Question Number : 280 Question Id : 54025015650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
I i FHY & forw smevas ¥

(1) 301 Ts 31z Qiid Hod Sefery

(2) 37 % HHF Siae g 99 9 G AS YU
(3) 25°C 9 AfYes 3= A19HE aU1 I el
(4) ST TR S

Options :

54025062597. 1
54025062598. 2
54025062599. 3

54025062600. 4
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